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Algebra and Trigonometry — Joysheet 5| Name:
MAT 150, Fall 2013 — D. Ivansic Show all your work!

Solve the inequalities. Write your solution in interval notation.
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3. (6pts) Find the domain E}f the Function flz) = = (in interval notation).
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4. (14pts) Michelle is considering two monthly cell-phone plans: plan A costs $20, includes
100 free minutes and charges 12 cents per minute for additional minutes; plan B costs $50,
includes 400 free minutes and charges 16 cents per minute for additional minutes. Assuming
Michelle always uses at least 400 minutes per month, for which number of minutes used is
plan B better?
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5. (14pts) John B. and Harry R. bike to their jobs on Capitol Hill. It takes John 15 minutes
and Harry 20 minutes to ride to work since Harry lives 2 miles farther than John. Harry's
bike speed is 4mph more than John's.

a) What are their bike speeds?

b) How far is Capitol Hill from Harry's house?
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6. (12pts) How many liters of water must be mixed with 3 liters of a 15% solution of
muriatic acid in order to get an 8% solution?
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